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Section A
I. Answer all twelve questions :

A. Write the correct answer from the given options :

1 A feeling of oneness means

(a) National integration. (b) Unity and diversity.
(c) Mechanical solidarity. (d) Dissimilarity.
2 is the first Veda.
(a) Adharva. (b) Rig.
(c) Sama. (d) Yajur.
3 ""Caste' was derived from the Latinword
(a) Castus. (b) Gastus.
(c) Caste. (d) Jati.
4 Marriage with in the group is called :
(a) Polygamy. (b) Polyandry.
(c) Endogamy. (d) Exogamy.

B. Fill in the blanks :

5 The untouchability offences act was enacted in the year
6 Indian culture is and

7 The mother becomes the head of the family is called _ ———
8 The bond of marriage is called

kinship.

Turn over



C. Write Trueor False :

9 The bond of blood is called consanguineous kinship.

10 Father of grandfather is head of the family is known as matriarchal.

11 The word "Veda" id derived from “Vid”.

12 The name India was derived from the river name Sindhu.

Section B

Short Answer Type Questions. Answer all nine questions

13 Dharma. 14 National integration.
15 Varna. 16 Caste.

17 Joint family. 18 Kinship.

19 Ryotwari system. 20 Untouchability.

21 Monogamy.

Section C
Short Essay or Paragraph Questions. Answer any five questions
22 Write a short note on bonds of unity in India.
23 Define caste, list out its features.
24 Evaluate the advantages of joint family.
25 Write a note on Polygamy.
26 List out types of kinship.
27 Give a brief account of the Hindu Marriage Act, 1955.

28 Describe the land reforms in India.

Section D

N. Essay Questions. Answer any two questions

29 Evaluate the diversity of Indian Society.

(12x =3 weightage)

X 1 =9 weightage)

(5 x 2 =10 weightage,

30 List out the characteristics of family. Discuss its changing functions in contemporary Ins

31 Define modernization and its impact on Indian Society.

(2 x 4 = 8 weight
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